
ƪĲĮǈǏǁĮ�)25=$��
ƹǎǏǆǄİǁĲĮǈ ƿǉȺĲǔıǆ�ĮȺǗ�İǁǉǎıǈ����%)�İȺǁ�Ĳǎǈǐ İǉĮĲǗ��ǄǈĮ�ĮȺİǏǈǗǏǈıĲİǐ�ĮǄǎǏƿǐ�Ĳǔǌ�ĲǏǎĳǙǌ�Ĳǆǐ İĲĮǈǏǁĮǐ FORZA���ƪıǔǉǊİǁǎǌĲĮǈ ǉǎǑȺǗǌǈĮ)
ƪĲĮǈǏǁĮ�%(/&$1'2
ưǁĮǐ������ƩƻƵƪƧƱ��ıǑıǉİǑĮıǁĮǐ�ǍǆǏƾǐ�ĲǏǎĳǀǐ�Ĳǆǐ�İĲĮǈǏǁĮǐ�%(L&$1'2��NJU�ǀ��NJr���ĮǍǁĮǐ���¼�ƿǔǐ���¼���ǋİ�Ĳǆǌ�ĮǄǎǏƾ�ǋǈĮǐ�ĮǌĲǁıĲǎǈǒǆǐ�
ıǑıǉİǑĮıǁĮǐ��ƪȺǈȺǊƿǎǌ�ǄǈĮ�ĮȺİǏǈǗǏǈıĲİǐ�ĮǄǎǏƿǐ�ƿǔǐ�Ĳǆǌ�ǊǀǍǆ�ĲǎǑ�ıǑǋǃǎǊĮǁǎǑ��ǇĮ�ǒǎǏǆǄİǁĲĮǈ�İǈįǈǉǀ�ƿǉȺĲǔıǆ�����
ƪĲĮǈǏǁĮ�/(21$5'2
ưǁĮǐ������ƩƻƵƪƧƱ��ıǑıǉİǑĮıǁĮǐ�ǍǆǏƾǐ�ĲǏǎĳǀǐ�Ĳǆǐ�İĲĮǈǏǁĮǐ�/(21$5'2��NJU��ĮǍǁĮǐ�����¼���ǋİ�Ĳǆǌ�ĮǄǎǏƾ�ǋǈĮǐ�ĮǌĲǁıĲǎǈǒǆǐ�ıǑıǉİǑĮıǁĮǐ��
ƪȺǈȺǊƿǎǌ�ǄǈĮ�ĮȺİǏǈǗǏǈıĲİǐ�ĮǄǎǏƿǐ�ƿǔǐ�Ĳǆǌ�ǊǀǍǆ�ĲǎǑ�ıǑǋǃǎǊĮǁǎǑ�ĲǏǎĳǀǐ��ǇĮ�ǒǎǏǆǄİǁĲĮǈ�İǈįǈǉǀ�ƿǉȺĲǔıǆ�����
ƪĲĮǈǏǁĮ�,1)5217
ƪǌǗǐ������ƩƻƵƪƧƱ��ȺİǏǈǊĮǁǋǈǎǑ�ĮǌĲǈȺĮǏĮıǈĲǈǉǀǐ ĳǏǎǌĲǁįĮǐ�ıǉǘǊǎǑ �ĲİĲǏƾǋǆǌǆǐ ȺǏǎıĲĮıǁĮǐ) Ĳǆǐ İĲĮǈǏǁĮǐ INFRONT���ĮǍǁĮǐ�9.5 ¼�� ǋİ�Ĳǆǌ�ĮǄǎǏƾ�
ǋǈĮǐ�ĮǌĲǁıĲǎǈǒǆǐ ıǑıǉİǑĮıǁĮǐ. ƪȺǈȺǊƿǎǌ ǄǈĮ�ĮȺİǏǈǗǏǈıĲİǐ�ĮǄǎǏƿǐ�ƿǔǐ�Ĳǆǌ�ǊǀǍǆ ĲǎǑ�ıǑǋǃǎǊĮǁǎǑ��ǇĮ�ǒǎǏǆǄİǁĲĮǈ�İǈįǈǉǀ�ƿǉȺĲǔıǆ���%.
ƪĲĮǈǏǁĮ�9$1�&$7
ƪǌǗǐ������ƩƻƵƪƧƱ��ȺİǏǈǊĮǁǋǈǎǑ ĮǌĲǈȺĮǏĮıǈĲǈǉǀǐ�ĳǏǎǌĲǁįĮǐ�ǄƾĲĮǐ��ĲİĲǏƾǋǆǌǆǐ�ȺǏǎıĲĮıǁĮǐ) Ĳǆǐ�İĲĮǈǏǁĮǐ�%,2�%AND� �ĮǍǁĮǐ������¼���ǋİ�Ĳǆǌ�ĮǄǎǏƾ�
ǋǈĮǐ�ĮǌĲǁıĲǎǈǒǆǐ ıǑıǉİǑĮıǁĮǐ. ƪȺǈȺǊƿǎǌ�ǄǈĮ ĮȺİǏǈǗǏǈıĲİǐ�ĮǄǎǏƿǐ�ƿǔǐ�Ĳǆǌ�ǊǀǍǆ ĲǎǑ�ıǑǋǃǎǊĮǁǎǑ� ǇĮ�ǒǎǏǆǄİǁĲĮǈ�İǈįǈǉǀ�ƿǉȺĲǔıǆ����.
ƪĲĮǈǏǁĮ�)/(;�3/86
ưǁĮ������ƩƻƵƪƧƱ��ƾǋǋǎ�ǑǄǈİǈǌǀǐ�ǄǈĮ�ǄƾĲİǐ�Ĳǆǐ�İĲĮǈǏǁĮǐ�9$1�&$7���ĮǍǁĮǐ�����¼���ǋİ�Ĳǆǌ�ĮǄǎǏƾ�ǋǈĮǐ�ĮǌĲǁıĲǎǈǒǆǐ�ıǑıǉİǑĮıǁĮǐ�
ƪȺǈȺǊƿǎǌ�ǄǈĮ����ĮǄǎǏƿǐ����ǉƾǇİ�ǋǀǌĮ���ƿǔǐ�Ĳǆ�ǊǀǍǆ�ĲǎǑ�ıǑǋǃǎǊĮǁǎǑ��ǒǎǏǆǄİǁĲĮǈ�İǈįǈǉǀ�ƿǉȺĲǔıǆ�����
ƪĲĮǈǏǁĮ�,1129(7
ƹǎǏǆǄİǁĲĮǈ�ƿǉȺĲǔıǆ�įƿǉĮ������İȺǁ�Ĳǎǈǐ�İǉĮĲǗ�ıİ�ǗǊĮ�ĲĮ�ıǑǋȺǊǆǏǙǋĮĲĮ�įǈĮĲǏǎĳǀǐ�ǉĮǈ�ȺǏǎǕǗǌĲĮ�Ĳǆǐ�İĲĮǈǏǁĮǐ�,1129(7�
ƪĲĮǈǏǁĮ�%($3+$5
ƹǎǏǆǄİǁĲĮǈ�ƿǉȺĲǔıǆ�İǁǉǎıǈ�������İȺǁ�Ĳǎǈǐ�İǉĮĲǗ�ıĲĮ�ȺǏǎǕǗǌĲĮ�1R�6WUHVV��ĮǋȺǎǘǊİǐ�ǉĮĲƾ�ĲǎǑ�ıĲǏƿǐ��ǄǈĮ�ıǉǘǊǎǑǐ�ǉĮǈ�ǄƾĲİǐ��
ǄǈĮ�ĮȺİǏǈǗǏǈıĲİǐ�ĮǄǎǏƿǐ�ƿǔǐ�Ĳǆǌ�ǊǀǍǆ�ĲǎǑ�ıǑǋǃǎǊĮǁǎǑ�


















